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Question 1.  Find the solution set of the inequality
2
(x +10x + 25)(x +1)2 0, in interval notation.
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Question 2, Find the sum of the values of a for which the equation:
ax* +2(a+4)x+25=0 has only one solution.
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Question 3. Ifthe line by —5x =1 is perpendicular to the line passing through

7
the points (4"1)‘7”‘{(_5’2) , then find 5.
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5+2x

Question 4.  Fip the solution set of the inequality p <1, ininterval
notation.
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Question 5. fjpg the equation of a circle in standard form with endpoints
of a diameter at(1a5)a’7d(7’8)'
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Sele 4x3 = —256

Question 6.
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esti . Find the number of different real solutions by solving:

2 ~Tn* +5n% =0,
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Question 8. Ifthe equation: x* =—25+6x is written in the complete square
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form (x—n)" =m, then find §n+-2-m,
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